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QUESTION 1

A network administrator is planning a PoE budget for their network. 

What is the PoE source maximum power budget for a Class 4 end device? 

A. 12.95 watts 

B. 15.4 watts 

C. 34.2 watts 

D. 60 watts 

Correct Answer: C 

Reference: http://ftp.dell.com/manuals/all-products/esuprt_ser_stor_net/esuprt_networking/esuprt_net_fxd_prt_swtchs/n
etworking-n3000-series_User\\'s-Guide10_en-us.pdf page 82 

 

QUESTION 2

Which interface on a Dell EMC N-Series switch provides the most security for management? 

A. VLAN 

B. Ethernet 

C. Loopback 

D. Out-of-band 

Correct Answer: D 

 

QUESTION 3

What is the IP protocol number, in decimal, assigned by IANA for VRRP? 

A. 25 

B. 112 

C. 443 

D. 1443 

Correct Answer: B 

 

QUESTION 4
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The exhibit represents a topology with all Dell EMC N4000 Series switches with RSTP enabled. In addition, the switches
are using the default configuration on all ports and protocols. Which port number will be blocked by spanning tree? 

A. Te 1/0/3 

B. Te 1/0/4 

C. Te 1/0/5 

D. Te 1/0/6 

Correct Answer: C 

 

QUESTION 5

A Dell EMC N-Series switch is configured to uplink to a customer switch using two separate 4-port port-channels
configured as trunks. Both switches are configured with 16 VLANs and RSTP. 

How will VLAN traffic be distributed across the port-channels? 

A. All VLANs are allowed across a single port-channel 
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B. A single VLAN is allowed across each port-channel 

C. All VLANs are allowed across both port-channels 

D. Eight VLANs are allowed across each port-channel 

Correct Answer: A 
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